Year 2 home learning week commencing 11" May 2020

Maths

This week, we are going to revise counting in 2s, 10s and 5s and start to learn about money. | have found
some great videos online to help with this.

Activity 1
Watch the video here then answer the questions below:

https://www.youtube.com/watch?v=vZfyW9FF2eA&list=PLQgF8s5n28L9yTVIOWxpHw-
9BbgRe f49fr&index=7&t=0s

1. Complete the sequences:
2,4,6,8, 10, 12 , 14, 16, 18
10, 20,30, 40,50 , 60, 70, 80 _

5,10, 15,20, _25_, 30, 35, 40_, 45

2. What is the smallest value coin in the UK?
1p or 1 penny

3. How many 1p coins are there in the picture?
What is the value of the coins?

There are 5 1p coins and the value is 5p

4.

Pencil Marble Mini Eraser

spinning top

6p 4p 9p 10p

How many 1p coins would you need to buy an eraser?
10

How many 1p coins would you need to buy spinning top and a marble? 13


https://www.youtube.com/watch?v=vZfyW9FF2eA&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=7&t=0s
https://www.youtube.com/watch?v=vZfyW9FF2eA&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=7&t=0s

Activity 2
Watch the video here then answer the questions below:

https://www.youtube.com/watch?v=Q15agGRCUJI&Ilist=PLQqF8s5n28L9yTVIOWxpHw-
9BbgRe f49fr&index=7

1. Match each coin to its value:

)

2p
%
€
i "
10p
5p

2. Miss Coope is holding a coin. She says ‘My coin is bigger than a 1p coin but it is the same colour as a
1p coin’. What coin does she have?

A 2p coin

Mrs Dunning says ‘The copper coin must be worth more than the silver coin because it is bigger’. Is she
right or wrong? Explain your answer.

She is wrong. The copper coin is a 2p and the silver coin is a 5p.


https://www.youtube.com/watch?v=Q15agGRCUJI&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=7
https://www.youtube.com/watch?v=Q15agGRCUJI&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=7

